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214 %3 14 e > 4,632 [110/01/18|4x g PRFx2 Ldpgest |8 |- 42 =
215|% P g 15,000 |110/01/18 |4+ € pRix 2 Ldrscrs | £ |2 % & =
216|% + % 500 [110/01/19|4 € PRAx2 Lirgers | £ |- 48 2
2175 3 = 100 |110/01/19[4+ € PR32 &pderns (£ [- 4 2
218| % wps 100 |110/01/19[4+ & PR32 &pferns (£ [ 4 2
219|% # % 100 |110/01/19 |4+ € PR32 &pderns (£ [ 4 2
220| % o 10,000 |110/01/19|4+ € PRix 2 Ldrscrs | £ |- 48 =
221|% 5c £ 500 [110/01/19|Ax ¢ PRAx2 Lpsees [ |- &&=
222|% 45 9% 500 [110/01/19|4+ € PRAx2 Lirscrs | £ |- 48 2
223[1% £ 5% 1,000 [110/01/19[4+ € PRA%2 Lptees [ |- & =
224|48 K & 500 [110/01/19|4 ¢ PRix2 Liseet | |RF & =
225|% 7% 500 |110/01/20 |4 ¢ PRix 2 Lpsers |£ |- & &~
226|3F % 500 [110/01/20 |4 € PRAx2 Lirscrs | £ |- 48 2
227|2 %% & 1,000 |110/01/21 [4+ & PR32 &pferns (£ [- 4 2
228|193 7 1,000 |110/01/21 [4+ & P52 &pderns (£ [- 4 2
229 g 200 [110/01/21 |4+ ¢ PRAx2 Lidpgers | £ |- 48 2
230(2 % K 200 |110/01/21 |4 ¢ pRasr2 Eapseres £ |- &2
231|745 & 3,000 |110/01/21 |4+ & pRAx2 Lscrs | £ |- 48 =
232| &4 2 3,000 |110/01/21 |4+ & pRAx2 Lscrs | £ |- 48 =
233| & ¥ & % 3,000 |110/01/21 |4+ & pRAx2 Lscrs | £ |- 48 =
234| & ¥ 3,000 |110/01/21 |4+ & pRAx2 Lsers | £ |- 48 =
235| & & 3,000 |110/01/21 |4+ & pRix2 Lsers | £ |- 48 =
23615 e 4% 3,000 |110/01/21 |4+ & pRix2 Lpsers | £ |- 48 =
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237[+k4h i 1,200 [110/01/21 A & pRix 2 ket |2 |- 4 d =
238|% & # 1,200 [110/01/21 [A & pRix = ket |2 |- #d =
239|% s 1,200 |110/01/21 |4 € pRse 2 Sapfhert |2 |- 48 =
240(% % 1,200 [110/01/21 A & pRir = ket |2 |- B =
24115 A 500 [110/01/21 4 & pRis 2 Aspsers |8 |- 48 2
242|% 4= 45 500 [110/01/21 |4+ & pRis 2 &apfees (8 |- &g =
243|:5 ¢4 6,000 |110/01/21 |4+ § PR3x % Apgens [£ |- 4 & 2
244|w + B LA & ¢ 5,000 |110/01/21 |4+ & PR3x % Apgens |2 |- 4 & 2
245|355 < 47 500 [110/01/21 |A% & PRz 2 & spdees (8 |- &% =
246|% 7 3 500 [110/01/21 |4+ & pRis 2 &apfees (8 - &% =
247|% A (2 3 500 [110/01/21 |+ & pRis 2 &apfees (8 |- &g =
248 | % 47 % 300 [110/01/21 |+ & pRis 2 &Eapfees (8 |- &% =
249[33 5. 4 300 [110/01/21 |4 & PRAx2 Eipfens £ |- & =
250[3% P 7k 2,000 |110/01/21 |4+ § PRF % Apgers [£ |- 4 & 2
251[% o & 2,500 |110/01/21 |4t § PRAx % Apdees |[£ |- 4k 2
252/ 4% & 200 [110/01/21 |4 & PRAx % A3pfees | |- 4p & =
253| % # & 100 [110/01/21 |4+ ¢ PRin 2 Lifsces [£ |- 4 d 2
204|% £ 4 100 1110/01/21 [4+ € mras2 Eapsers (£ [~ i =
255|1f & % 100 |110/01/21 |4t € PRse 2 Edpfers [B |- 4 & 2
256 FlixAE 200 [110/01/21 |4+ & PRis 2 &apfees [E |- 48 =
257| st 200 [110/01/21 |4+ & PRis 2 &apfees [E |- &g =
258 ¥ ita e 200 [110/01/21 |4+ & pRis 2 Eapfees [E |- &g =
259|514 e 200 [110/01/21 |4 & PRax % &gpdees (8 |- &% =
260 |45t 200 [110/01/21 |4 & PRax 2 &opfees (8 |- &% =
261[4+if 47 330 |110/01/21 |4+ & pRix % Lipgers £ |- i d =
262)i% 5 & 340 [110/01/21 |+ & PRax 2 & opdees (8 |- &% =
263 | it 5t 330 [110/01/21 |Ax & PRax 2 &spfees [E |- &% =
264 [thap & 8,000 [110/01/21 |4t ¢ PRAx% Lidees [ (B #pd 2
AR ES #5 2,000 |110/01/21 |A- g PRI 2 Ldpdees (£ (B EMrEH L &
266[ %} 2,000 [110/01/22|4x & PRAx2% L¥pders |E |- & #
267 M 2 5,000 |110/01/22|3 ¢ pRix 3 Espdees |£ |- & »
268tk ip 5,000 |110/01/22 |4+ § PR3x 2 Apgens |2 |- 4 & @
269| % 2= ¥ 500 |110/01/22|4 ¢ pRi%x 2 Lpsers (£ |- 48 =
270 P %18, 2,000 |110/01/22|4- § PRix % Aspdgees |[£ |- 4k 2




Wi*ﬁ*ﬁ?ﬁ%wag& R
2 TEEAE ATRERS P EHRET > T poT
&iiﬁ,\ 2 e
EPEEFI N EN RN - REE-FA S S

(

)M* Sk R R

A FIP R 2 TS §

110#1%1p 211017 31p

(z)ﬂ\rfa‘s_gmﬁ;ﬁﬂz\s SEBIRL D
(z)Pp &2 f’i~.u§'ﬁ‘-irﬂ4)t a o
(Z ):}1&4_‘&_1 fewr@ 2 & Mo
CGOLY ¥ £ %Wlﬁﬁﬁiiﬂe
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271 | i 1.8 2 5,362 [110/01/22 |4 & FR732 Asgees |8 |- ik 2
272) x5 fe » 3,169 |110/01/25|4 & pRanz Lapgees |2 |- 44 =
PAEE AL e 3
2T3|E AL ARTIE L | 10,000 [110/01/26|4: € pRis2 &epdees | |- &% »
TEALE
DT4|3F it 2 22 |110/01/26 |4 & PRis % Adpfees (8 |- 4 g =
2755 7H 500 [110/01/26|4k & PRi% % Apdres £ |- 4 & =
276|3% % » 500 [110/01/26 |4+ & pris 2 &idees |8 |- 4% =
2778 2 47 500 |110/01/26 |4k & pRax% Lipdees £ |- ixd =
278|148 & 1,000 [110/01/26 |4 & PRi% % & et |£ |- ixd =
279 % g 1,000 [110/01/26 |4 & PRi% % & gpfres |£ |- ixd =
280| #11+ B 1,000 [110/01/26 |4 & PRi%% &ipsees |£ |- &b~
281 & ¢ = 1,215 |110/01/26 |4 ¢ iz 2 &spfers (B |- 4%
282|8 8 {155 1,200 [110/01/26 |4 & pRis 2 &t |8 |- 4x % =
283| #r fr i 400 [110/01/26 4 & PRix 2 & gpfees |£ |- ixd =
284|+kic 2 400 [110/01/26 4 & PRix 2 & gpderes |£ |- ixd =
285| 72 ik 400 [110/01/26 |4 & pris 2 &epgees |£ |- dp & 2
286 |84 400 [110/01/26 4 & pris 2 &epgees |£ |- dp & 2
287|#%  ik 400 [110/01/26 |4 & pris 2 &Eepgeer |£ |- dp & 2
288|2 it % 500 [110/01/26|4x & PRix2 & spdees (8 |- &% =
289 % 48 1,000 [110/01/26 |4 & pris2 &t |8 |- 4x % =
290 7 5E B 1,000 [110/01/26 |4 & PRas % Apsees |8 |- 4 d =
2910 B £ 10,000 |110/01/26[4 & pris 2 &gt |8 |23 hwd =
292| 42X & 12,000 [110/01/27[4 & PRz 2 &gt |8 |- &t 2
293| = ¥ 20,000 [110/01/27 )4 & PRix % Adees | |- 4 & =
204 ik 20,000 [110/01/27 )4 & PRix % A dees | |- 4k & =
295| % 3% 1 4 4 » 1,219 [110/01/27 |4 & PRas % Apsees |8 |- 4 d =
296 % 1% 1.4 4 » 4,632 [110/01/27 |4k § PRA%2 L 3pfret |£ |- &% =
297)5% -] 4% 30,000 |110/01/27 |4 ¢ A% % Aspdgees [£ |MEgd 2
298|+ ¥ & 30,000 |110/01/27 |4 ¢ A% % Aspdgees [£ |MEgd 2
299|531 100 |110/01/28 |3 ¢ PRA% % & ggres (£ |- &4 =
300| 33 100 |110/01/28 |3 ¢ PRA% % & ¥gres (£ |- &4 =
301 ¥ & 100 |110/01/28 |3 ¢ PRA% % & ggres (£ |- &4 =
302[14 5 fF 100 [110/01/28 |4 & PRix % Eapsees (8 |- &g 2
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o [FRH PN (FREH (KR D |Frv e "y lee
303t 5% 100 [110/01/28 |4+ & PRAXZ Eipders |H |- % =
304| 2 % 2 1,000 [110/01/28 |4+ € PRAx2 Lpsers [ |- 48 =
305[3 4p 4% 1,000 [110/01/28 |4+ € pRAx2 Lpsers [ |- 48 =
3064+ £ % 1,000 [110/01/28 |4+ € PRAx2 Lpsers [ |- 48 =
307| % i 1,000 [110/01/28 |4+ € pRAx2 Lpsers [ |- 48 =
308 g % 1,000 [110/01/28 |4+ € PRAx2 Lpsers [ |- 48 =
309[2 i+ se 1,000 [110/01/28 |4+ € pRAx2 Lpters [ |- 48 =
3102 4 = 1,000 [110/01/28 |4+ € pRAx2 Lpters [ |- 48 =
31|52 A 1,000 [110/01/28 |4+ € pRAx2 Lpsers |8 |- 48 =
312[4F 58 3 1,000 [110/01/28 |4+ € PRAx2 Lpsers [ |- 48 =
3134 P x 1,000 [110/01/28 |4+ € pRAx2 Lpsers |8 |- 48 =
314 %o 6,000 |110/01/28 |4 ¢ rRix 2 Lapgees £ |[w i~
315[5 1 = 500 |110/01/29 |4 ¢ PRax % Aspsees [ |- &b =
316|H iR i 100 |110/01/29 |4+ & PRA% 2 Aspgeres [ [- &%~
317|: 4 100 |110/01/29 (4> ¢ rRsr2 gt |H |- &&=
318|:# & 100 [110/01/29[4x & PRA* 2 Ldpgees | B |- &% =
319] o= 100 |110/01/29 4+ € PR3 % Espdees (£ |- &&=
320 (M ik 100 [110/01/29 |4+ ¢ PRA%X% Eipgres (8 |- 48~
321 2 % 100 |110/01/29 4+ € PR3 % A spdees (£ |- &&=
322|=ie & 100 |110/01/29 (4> ¢ rRsr2 &gt |H |- &&=
323|254 B 100 |110/01/29 (4> ¢ rRs2 &gt |H |- &&=
394]:2 =a 100 |110/01/29 (4> ¢ rRa2 &gt |H |- & & =
3254k 73b 6,000 |110/01/29|4 ¢ rRix 2 Lpgees |£ |- 42 »
W EET 1,000 |110/01/29(A ¢ pRar2 &pees £ |- 42 »
327|m s 2 300 |110/01/29|4 ¢ rRix% Lipsees (B |- & =
328[m ik 2 500 |110/01/29|A ¢ pRix% L3psees (B |- i =
399 #r = 500 |110/01/29|4+ ¢ PRA% % L ¥pfees |H |- 4 & =
330/ 3E 3.k 300 |110/01/29|4 ¢ prix% L3psees (B |- i =
331|% Foip 300 |110/01/29|4 ¢ PRix % L3psees (B |- & =
332[:% 3 % 300 |110/01/29|4 ¢ PRix % L3psees (B |- & =
333[57 2 4 300 |110/01/29|4 ¢ PRix% L3psees (B |- & =
334|912 100 [110/01/29 (A € PRA%2 Eipdcees |£ [ Brd =
335|358 % M (FEALF) 100 [110/01/29|4+ € PRAx 2 Ldpfees | £ |2 %52
336|% 4 W 10,000 |110/01/29)4- ¢ pRix 2 Lipgeres £ |2 & =




3372 £ % 3,600 1110/01/29 |4+ € pRix 2 LHipfeer | |[Z B & 2




